


Determine the inequality sign (< or >) that best fits each question.

a. 0.65 _____ 0.75		b. 0.45 _____ 0.44		c. 0.56 _____ 0.12	

     d.  0.14 _____ 0.1		e. 1.32 _____ 2.12		f. 8.00 _____ 7.99

     g.  4.01 _____ 1.04		h. 3.03 _____ 5.04		i. 0.9 _____ 0.09	

Determine the inequality sign for each question by modeling the decimals with a 10 x 10 Base 10 Block.

a. 0.23 _____ 0.32		      b. 0.2 _____ 0.02		      c. 1.4 _____4.1	










Find the sum for each question and determine the inequality sign that best fits. 

a. (0.65 + 0.42) _____ (0.75 + 0.23)		b. (1.02 + 2.08) _____ (0.44 + 3.43)



     c.  (3.53 + 4.02 + 0.42) _____ (1.42 + 0.25 + 6.02)		



    d. (4.65 + 7.12) _____ (9.52 + 3.52)		e. (9.04 + 1.72) _____ (10.05 + 0.43)



f. (10.11 + 12.13 + 14.15) _____ (15.14 + 13.12 + 11.10)
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